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Ofl &F Kb 201l &
BlHRE  UHAFHI A
@ =& CHe A R)
- 2= gl o ?EOEH = at o
49 o
200 M2 =g 100 0 100
210 &AM == 100 0 100
216 Ol At==¢ 100 0 100
216-01 3030l At== 100 0 100
OO0l Xh==& 100,000& =141 100
500 X3 14,100 14,100 0
510 2 182X=8S 14,100 14,100 0
511 = 12X=S 14,100 14,100 0
511-03 JI=3 14,100 14,100 0
OPIR-=PNE-= 14,100,000 =14 14,100
700 Ed=USL USRI H 19,184 0 19,184
710 2823 19,184 0 19,184
714 Ol Xl = 3l = 19, 184 0 19,184
714-01 O Xl 19,184 0 19,184
OU Xl =2l 19,184,000& = 14! 19,184
> g 33,384 14,100 19,284
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SIHRE  HEAFHIE X2
® X&AHE (SH9: & <)
A& .22 -HH.AHP - JIREAY - HAS XEH dE X =N HusZ

J1Z0fl 4 Xl 2 33,384 14,100 19,284
Ofl A XI & K2 O e 33,384 14,100 19,284
SYAZHLA KA 31,100 14,100 17,000
LHAFHAY NAI2 SS(LHAZHIY NII2) 31,100 14,100 17,000
LHAZHIA I 22 22 A Y 14,100 14,100 0
402 DI RH20| A 14,100 14,100 0
01 QIATEAYEE 14,100 14,100 14,100 0

O=12l 6,100

SPC 2 ¥ 2UH 1,440,0002 *14! = 1,440

[Dl 1,440]
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[] 460]

> 2010l 1,440,0009 =20} = 2,880

[l 2,880]

SE] 330,000 «4CH = 1,320
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Ol & Xp= 0 200l &

SARE P YEAFEHIY NS
(Etel &)
= o o o o# o
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=x= W@ |®uz | e2x2 gz |B%EE4 | gaz 0l Xt JIEL 3N ® HgXS | 8NE |azsgu Y38 | US| J|E (@-®)
=== = S S| (ox=E) e A0l ENe] AFIHL | AFSIH| [% 2123 | 22as (ciSdE =
2009 It Xl 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20109 = 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
201149 = 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20129 = 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
20134 = 851,985 0| 846,500 0 0 0 5,485 0| 823.882| 823,882 0 0 0 0 0 28,103
20144 = 15,572 0 14,100 0 0 0 1,472 0 24,491 14,100 0 0 0 0 10,391 ~8,919
201549 = 14,200 0 14,100 0 0 0 100 0 31,100 31,100 0 0 0 0 ol ~16,900
A 881,757 0| 874,700 0 0 0 7,057 0| 879.473| 869,082 0 0 0 0 10,391 2,284
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Al 28,103 19,184 2,284 216,900
Ol XI =2 EN | 28,103 19,184 2,284 216,900
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